Solutions to Practice Questions #3

Multiple Choices

1. False: the price is not decided (for example through bargaining) by suppliers and people who demand. Instead, it is the outcome of market dynamics: market participants take prices as given, and then make a decision about the quantity they want to produce and consume. The price level which results is one in which aggregate supply actually equals aggregate demand.

2. True: an increase in subsidies to HiTech industries induces a rightward shift in the supply curve – at a given price, suppliers find it profitable to produce a larger quantity. More subtle is the effect of a rise in taxes on purchases. In general the demand curve for computers can be written as Qd=a-bp, where p is the market price. Taxes are an extra amount of money the consumer pays when purchasing a computer, i.e. taxes increase the price faced by consumers. Thus, after the imposition of taxes the demand curve is Qd=a-b*(p+t), where t stands for the tax the consumer pays when purchasing a computer and p is the before-tax market price. Thus, the demand curve can be rewritten as Qd=(a-bt)-bp. The intercept is now (a-bt), i.e. lower. Graphically, the damand curve shifts leftward.








3. False: the contrary happens if the good is inferior.

4. True: if you lose $10,000 betting on the Budgers'football game and your income per month is $1,000, your wealth is -$9,000 (assuming you don't own anything else, like for example houses, bonds, companies...). 

5. This is true since the model-T car is an effective substitute for horses and carriages, thus decreasing the demand for everything related to this industry (indeed the industry was practically destroyed). The demand curve for items in the horse and carriage industry, e.g. saddles, shifts leftward.

6. False: it depends on the "sign" of the demand shock, i.e. on the direction of the demand curve shift.

Multiple Choices
7. d.

8. e: this is a technological improvement that affects the supply curve of ski-boots. Snow, mountain cottages and, obviously, skis  are complement goods, a stock market crash and an increase in oil prices decreases consumer wealth and, finally, a change in fashion is a change in preferences.

9. d.

10. a: first of all observe that a fleece is a substitute for wool sweaters. In this question we suppose a shock in each of the two markets occurs, in particular both shocks concern the raw material use in the production of the two goods. A technological advance in the production of synthetic materials makes this raw material cheaper, and thus corresponds to a technological improvement in the production of fleeces whose price decreases, other things being equal. Since fleeces  are a substitute for wool sweaters, a smaller quantity of the latter will be demanded at any given price, i.e. the demand curve shifts leftward. The tragic death of the poor Scottish sheep, decreases the world supply of wool, thus resulting in an increase in its equilibrium price in the global market. [This assumes that wool is harvested from live sheep repeatedly, but only one final time from dead sheep.] As a result it becames more expensive to produce wool sweaters, i.e. the supply curve shifts leftward. Note that in both cases we have a shock on the production side (at the stage of input) but the one that occurs in the market for the substitute good (the fleece market) results in a shock to the demand side in the market of interest (the wool sweater market).

11. b: when the price ceiling is higher than the equilibrium price it doesn't affect the market since the legal constraint is not binding. An effective price ceiling reduces the price below the market equilibrium price and therefore increases consumer surplus while decreasing producer surplus.

Problems

12.:





	Price
	Aggregate Demand
	Favre
	Blair
	Picasso
	Shakespeare
	Einstain
	Trump
	Mouse

	1
	18
	4
	2
	1
	1
	1
	9
	0

	2
	16
	3
	2
	0
	1
	1
	9
	0

	3
	14
	2
	2
	0
	0
	1
	9
	0

	5
	10
	1
	1
	0
	0
	0
	8
	0

	10
	0
	0
	0
	0
	0
	0
	0
	0


In order to derive the aggregate demand curve use the intercept-slope form (number are cooked so that the relationship is linear): Qd=a+bp. Pick two points, for example (1,18) and (10,0). Then use the definition of b=(0-18)/(10-1)=-2. Then we can rewrite  Qd=a+bp as  Qd=a-2p. Now pick a point, for example (10,0), and by "plugging-in" its coordinates impose that the straight line pass through this point: 0=a-2*10. We thus find a=20. The aggregate demand function is Qd=20-2p. 

12. a and b: p=$20, q=20, CS=$200, PS=$100. In order to derive the equilibrium price, use the equilibrium condition Qd=Qs to obtain 40-p=2p-20 and thus p=$20. Than to find the equilibrium quantity substitute the equilibrium price inside either the demand function or the supply function Qd=Qs=2*$20-20=20. In order to compute the consumer surplus using the usual method, reverse the demand function, p=40-Qd. The equilibrium surplus is given by the area of the triangle ABC. The height of the triangle is given by the difference between the price at which demand would be 0, i.e. $40, and the equilibrium price, $20. The base of the triangle is the equilibrium quantity, 20. Appling the formula for the area of a triangle we find: ($40-$20)*20/2=$200. The producer surplus is given by the area of the triangle BCD that we can find following the same reasoning we just described.







c and d: p=$15, q=25, CS=1/2(25)(25)=$312.5, PS=1/2(12.5)(25)=$156.25. The equilibrium price is lower, the equilibrium quantity is higher and both the consumer surplus and the producer surplus are higher. The benefits of a technological advance are captured by both sides of the market. The demand curve stays the same, the supply curve shifts rightward. Can you draw a graph representing this change and the consumer surplus before and after the change? You really should try and if you don’t succeed, ask your TA for help.

e and f: when the international price is $14, consumers at home can buy from abroad as many pizzas as they want at a price of $14 (we are assuming foreign pizza is as delicious as Vinnyland pizza). Thus, home producers cannot sell any pizza if they set a price higher than $14. As a result the price for a pizza in Vinnyland becomes $14. At this price producers makes 8 pizzas and consumers buys 26 pizzas (just plug-in $14 into the demand and supply functions given in exercise 14). Vinnyland is consuming more pizzas than it actually produces, thus it must be a net importer.  Imports=26-8=18. We could have also reached this conclusion directly from the finding of exercise 14: since the autarky (no trade) price is $20, it is larger than the international price, $14, thus Vinnyland must become a net importer after opening its frontier to international trade. The consumer surplus and the producer surplus can be found following the same method described in the answer to part (b). Note however that the shape of the two areas we are interested in is now different. CS=ABC=($40-$14)*26/2=26*13=$338 and PS=CDE=($14-$10)*8/2=$16. While international trade benefits consumers, producers are hurt: they sell a smaller quantity at a lower price.




g, h, i, j and k: Qd=24, Qs=12, CS=$288, PS=$36, government revenue=$24, deadweight-loss=$6. Since domestic pizza producers are hurt by international trade, they create a lobby and ask  the government of Vinnyland to implement a tariff in order to protect an important national industry and, above all, save tradition and national spirit. Since the tariff is $2 and the international price of a pizza is $14, consumers can buy as many pizzas as they want at a price of $16. Again, plugging-in this price into the supply and demand functions we find Qd=40-$16=24 and Qs=2*$16-20=12. As we expect the effect of the tariff is to increase Vinnyland production and decrease total consumption. As a result, the level of imports decreases: Imports=24-12=12. Government collects $2, the level of the tariff, for each imported pizza and thus makes: $2*12=$24 (the area of the rectangle BEFG). The consumer and producer surplus can be calculated following exactly the same reasoning as before, just use $16 as the equilibrium price. Consumer surplus is given by the area ABC=($40-$16)24/2=24*12=$288. The consumer surplus is now lower, before it was $338. Producer surplus is given by the area CDE=($16-$10)*12/2=6*6=$36 and it is now higher than before, $16. The deadweight-loss is given by: (CS before – CS now) + (PS before – PS now) –  government revenue = (338 – 288) + (16 – 36) – 24 = 100 – 20 – 24 = $6.






l: note that the level of the quota corresponds to the level of imports resulting from a tariff of $2 on the international price, $14. Thus the equilibrium price in Vinnyland is still $16, the level of production 12 and the level of consumption 24. The only difference is that now the Vinnyland government is not collecting any revenue. 
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